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General Instructions :
Read the following instructions very carefully and strictly follow them :

(i)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

(ix)

All questions are compulsory.

There are total 33 questions in this question paper.

Questions no. 1 — 18, Section A, are objective type questions and are of
1 mark each.

Questions no. 19 — 23, Section B, are of 2 marks each, to be answered in
10 —20 words.

Questions no. 24 and 25, Section C, are of 3 marks each, to be answered in
20 - 30 words.

Questions no. 26 — 29, Section D, are of 4 marks each, to be answered in
30 —40 words.

Questions no. 30 — 33, Section E, are of 5 marks each, to be answered in
50 — 60 words.

Internal choices are given in all the sections A, B, C, D and E.

Support your answers with suitable examples wherever required.

SECTION A

Multiple choice questions : Select the most appropriate answer from the four
given below with each incomplete statement.

1.

A typical characteristic of conservation in a three-year-old child is when
he

(A)  thinks all non-living things have life

(B)  is unable to see viewpoint of others

(C)  is unable to focus on two aspects

(D) lives in make-believe world

An investment scheme which is only for salaried people is
(A) Provident Fund

(B)  Public Provident Fund

(C) National Savings Certificate

(D) Life Insurance

Of the following product labels, FPO mark is found only on
(A) oil

(B) Dbutter
(C) milk
(D)  juice

OR
The standard mark you will check while buying a packet of gram flour is
(A)  AGMARK
(B) ISImark
(C) FPO
(D) FSIS
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4, The symbol on the care label of a garment which indicates that it should
be tumble dried is 1

(A) O

(B)

© |
o

5. Boys likes to play with cars but girls like to play with dolls. This type of
their play is 1

(A) natural
(B) scientific

(C) serious

(D)  curious
6. Dovetailing is 1
(A)  working at correct height
(B)  using labour saving devices
(C)  completing work in time
(D)  doing two or three activities together

7. A family grows their vegetables in their kitchen garden and saves money.
This saved money is known as 1

(A) indirect real income
(B)  psychic income
(C) direct real income
(D) money income
8. The food group which helps in body building is 1
(A)  eggs and lentils
(B) green leafy vegetables
(C) apples and oranges
(D)  oil and sugar
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10.

When the water in which chana dal is washed, turns yellow, it indicates

the presence of an adulterant called

(A)  iron fillings

(B)  kesari dal

(C) argemone

(D)  metanil yellow

The most suitable toy for your nine-month-old niece is a
(A) walker

(B) teether

(C) rattle

(D)  doctor set

OR
A child can tie his shoe laces at the age of
(A) 3years
(B) 4 years
(C) 6 years
(D) 2 years

Fill in the blanks with suitable words.

11.

12.

13.

14.
15.
16.

When their teacher does not give clear instructions to them, students

suffer from fatigue.

Diet of school-going children should be rich in
nutrients.

Consumers can approach government organizations like
gather the required consumer related information.

Solvent like is used to remove stains from clothes.

The leftover rice can be used to make another new dish like

and

and

A sixteen-year-old adolescent thinks that nothing will happen to him
after drinking and smoking. This cognitive characteristic is referred to as

To save cooked food from getting contaminated, it should be kept above

°C temperature.

A family has been served kidney beans and rice for dinner. This meal

does not contain food group.

7

P.T.O.



BIEE
A

19.
20.

21.

22,

23.

24.

25.

26.

27.

LCLERC
BN ATSH HH & IR a9 fafau |

T T o U Il AIfSAT I GUE LA GHI AT HH-H TR @Gl
AT ?

Jrqan
St Wit | 3muent fog femms fow & | 39 W) G9a HHOT 1 & Fehd B 2
319 3T E § yfdfed et & 31 & R Mdl 1 € ged) & | 3 394 99
T T o TR FoE ST |
U TRt & fotu wqfera Ared w1 3mIH HifST |

rgqaT

IME.MTAIM. (ICMR) g0 & T8 ARET. (RDA) difiwrsti d A
HIF-HH-H TR J&I THHRI I Beft 7 2

9 ToTU o9 ST o910 99T 319 fohT I iRl 1 &9 | W@ ?

Qus T
Y THIZT ol AR To=addl s-¢ W o foru ©: féw dfSu |

SrqaT

THIER ! ATh-GU @A @ T ©: Agw@qul ad fofe |
WWW%Wm(depression)@W% Itﬁ?ﬁqﬁmsﬁ%
AT 98 B IR WISH A % 93ETd a9 L § | 6 HRU 36T IR AR
Fgd S BT A1 @ @ | {1 1 el guen /1 @ 2 Al SHE 1 (e T8
foren T, @ R B 2 wEE § e U o T A R e s = ntee 2

QUg °
yfafed M T aTeft aEqsti & drary § ISRl 1 Aol ITARBIST i o
TR SIS T AT T USdl & 2 39 Hed H I8 3 o AU T <
e 9 stea = |

Jrra

o foham qon gu faskar ot UTERl W OvEl ¢ % fou wA IRaEm

Pl T § 2

T HIAT II9Ieh W H TR 6 god GeId T9 3T hiH-Hl HradT-=al st ?
aterdn

ged PGS o @1g AT J U TR IWeh [t HHI 1 U1 @O« ® O 7 |

forgetwor hifSTe fof oo era T dun &g # 39 WE -t e TAfaEt H

Bt fSreh  shror T ga |




5]
A

20.

21.

22.

23.

24.

25.

26.

27.

SECTION B
Write four advantages of planning meals.

What four precautions would you take while storing cotton saris for a
long time ?

OR
You find holes in your woollen shawl. What can be four reasons for this
damage ?

Geeta gets scolded for coming late every day to her office. Give her four
suggestions to manage her time.

Plan a balanced breakfast for an adolescent boy.
OR

Which four bits of information do we get from RDA tables given by
ICMR ?

What four factors would you consider while making a time plan for
yourself ?

SECTION C

Give six instructions to your cook to maintain good personal hygiene.
OR
Write six important points to maintain hygiene in the kitchen.

Reena is depressed due to her excess weight. She vomits after every meal
because she thinks it will keep her weight down. This is reducing her
weight to abnormally low levels. What is Reena’s real problem ? What
can happen if this problem is not solved ? What should Reena do to solve
this problem ?

SECTION D

Write four problems faced by consumers regarding information about
consumer goods. Make them aware of their two rights and two
responsibilities in this context.

OR

Write four malpractices each adopted by a cloth shopkeeper and a
milkman to cheat their customers.

What precautions would you take while removing ink stains from an
expensive dress ?

OR

Veena found that her cotton shirt got discoloured after she removed some
stains from it. Analyse eight mistakes she must have made during and
after removing the stains.

4
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28.

29.

30.

31.

32.

33.
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28.

29.

30.

31.

32.

33.

Sudha gets very tired while cleaning her house. Mention four reasons for
it and give her four suggestions to overcome this problem.

Define “adulterated foods”. Name three foods adulterated with argemone.
What are four health hazards of consuming this ?

SECTION E

Your sister is not satisfied with the neckline, placket, seams, hem and
lining of her readymade silk blouse. Give two reasons each for her
dissatisfaction.

OR

What two points each would you bear in mind regarding fabric, design,
comfort, easy maintenance and cutting of readymade garments ?

Gurdeep Singh is a rickshaw puller. He lives in Punjab with his two
children. Explain any five factors which would influence the meal
planning of his family.

In spite of paying five thousand rupees, your friend’s telephone did not
work. Your friend wants to file a complaint in the consumer court for poor
telephone services. Answer his following queries.

(a)  What is the time period within which she should apply ?
(b)  Where should she apply ?

(c) What four documents should she attach ?

(d)  What is the time period for the case to be settled ?

(e)  What is the relief which will be available to her ?

Ronika and Rohit are twin brother and sister. Compare the similarities
and differences in their physical development.
OR

Give five suggestions each to fulfil the physical and recreational needs of
your grandfather.
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